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Study the diagram given below and answer each of the following questions.

0 25 A > Persons who takes tea
20 / 17 15\ 30 } 40 O —> Persons who takes coffee
\_7 \ 20

/ 20 \X/ E:] —> Persons who takes wine
Hid S o T e e Rt 2
How many persons who take tea and wine but not coffee ?
A 20 e LBl €. 29 D. A5
Hi e Feran Tt fde o A Rt 2 ety
How many persons are there who take both tea and coffee but not wine ?
A 22 B. 17 Wi .- D. 20
Hi S =g e 2
How many persons take wine ?° e .
A. 100 B. ‘824 &Y- C.i92 - 423
Hit R FH T e 2 ; '
How many persons are there who takes only coffee ?
‘A, 90 B. 45 : €25 D. 20
e o v flse 2
How many persons takes all the three ? ; :
A. 20 B. 17 257 - D. I5
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Arctic ocean

i)  HEShHTEE a
il)  HSAMER b. - Atlantic ocean
iii) . fireaTE c. Indian ocean
d. Pacific ocean .
i i
A. b c+id
B-d ¢ b
C. a b ¢
D. d a c
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Question No. (12-16) based on the following passage: g ' 1‘“

Today perbaps your only-association with the word 'polio’ is the Sabin Oral Vaccine that protects children
from the disease. Fifty five years ago this was not so. The dreaded disease, which mainly affects the brain
ans spinal cord, causing stiffening and weakening of muscles, crippling and paralysis < which is Why [ am
in a wheelchair today. If somebody had predicted, when'I was born, that this would happen to me, no one
would have believed it. I was seventh child in a family of four pairs of brothers and sisters, with huge 23
year gap between the first and last. I was so fair and brown haired that I looked more look like a foreigner
than a Dawood Bohri. I was also considered to be the healthiest of the brood. - '
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In his childhood, the narrator was

A. aweakling B. very healthy C. tallandslim ‘- D. short and stout

In this passage, the word 'brood’ refers to =

A. polio victims _ B. foreign children

C. children in the family D. 1Indian Children

The narrator was the seventh child in a family of

A. 8children - B. 16 children - C. 23 children - D. 4children

In this passage, the narrator is a patient of

A. heart disease B. polio C. paralysis D. nervous weakness

1In his childhood, the narrator looked "more hke a foreigner than a Dawood Bohri'" This was
because he was

A. aforeign child : B. avery healthy boy
C. tell and smart D. fair and brown haired
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Which number will replace the question mark ?

(b) (C)
A. 26 B.-40:. .- C. 30 D. 60

vaﬁﬂ@m‘ﬁmﬁ7

Which one will replace the question mark ?

5 - 3 T 8

3 7 2 2

3T e B 4 : C4&30 D. 6

RS TS VT FEER T R s F g e 2.

A ORI ¥, frravrgs fashe e, i fase e, T farem e, gesl for foroew wme
B. e wTe, fraivgs fasa v, T fasew we, g T v, gea for fashm wre
c. framgs fas TR, eI ITE; To fasd v, g fase e, get fat fash wme
p. frat g fas wme, 1 e e, TS fasa e, Tos fasrd T, geait for forsem e

SRR TR VT A FRIHE TARS TSHART T FIH BT ooovevnenee ﬁlm'{ﬁ ........ |
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A. Tl &1, 962 : » B. f=re frawm, 9Res
C. TmrEfamm, 1’5 D. Tt #18T, 9%
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D. . GHi 7@ ' - el
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Pick out the best one which can complete incomplete stem correctly and meaningfully

He tames animals because he ...... - .
A. is fond of them ‘ ) B. hates them

C. isafraid-of them - : D. want to set them free ,
Pick out the best one which can complete incomplete stem correctly and meaningfully
Mahesh need not have purchased the bag, means ...... 4

A. It was not necessary for Mahesh to purchase the bag but he has purchased it
B. It was necessary for Mahesh to purchase the bag and he has not purchased it
C. It was not necessary for Mahesh to purchase the bag and he has not purchased it

- D. It was necessary for Mahesh to purchase the bag but he has not purchased it

Vijay sings very well and ........ does Ramesh. _
A even . B. - too . . C -also’ . QWY so e
BRSO - S T e e Bl afee o R rafe oI WA F|

A, 9R¥0 FeIE 90,9 B. ¥ IEENIe C. RYIAR RS D. 9340 FaTE 90,90
T e S S U STeIeeE! SEE! ATES 4o T B Y TN SRS S IR Hh

- BEm? .

The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the
age of the youngest child? .
A. 4 years . B. 8years C. 10 years D. None of these

F T T = 3¢ o of Rew o1 T T v R T i SR Tl
BT ? - :

An error 2% in excess is made while measuring the side of a square. The percentage of error
in the calculated area of the square is: : "

A 2% B. 2.02% C. 4% D. 4.04%
mmmﬂ,.a@mzmwmmnw&aﬁtmm#ﬂuﬂamt
R S SR W T, ARTEeR Sl SR § 6 1 S TRERE) e SRR A 2

* A family consists of two grandparents, two parents and three grandchildren. The average

age of the grandparents is 67 years, that of the parents is 35 years and that of the
grandchildren is 6 years. What is the average age of the family? ' '
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A. S, 39 T4, R00¥ | B. S, 33 IO 00¥

C. i e, 39 94 00¥ ' D. i faeed, 39 Jas j00¥
"Fighting Poverty in Asia and Pacific" AR AT A TR 2

A. e qER foem S B. il faswm 9%

C. IfaaH . ~D. .+ OECD

Feram TR : :

ED) mmzﬁwam)ﬁwwm%umman
) WWmeMWWWMIROﬁWWﬁ@W

A FIFETEd B WIHFHTad C. FA3 D. T
The old Nature Versus ...... debate regarding crime continues even today.
A.  Man ~ B. Universe .C. - Culture ' D. Nurture
The Sun ...... at six this morning.

- A raised - B. rose " C." arose " D. aroused
That rule is applicable ...... every one. : E
A. to for C. - about : D. with

mwmmaammmw aﬁmmvmﬁamaﬁw
TR T SEERR &5 mmﬂmwmﬁﬁl 7

“'A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4

km/hr, find the time taken by the boat to go 68 km downstream.
A. 2 hours -3 hours C. 4 hours D. 5hours -
aﬁxﬁamdﬁmwﬂ% 3 T y Tivet A i T e 2

If the cost of x metres of wire is d rupees, then what is the cost of y metres of wire at the same

' rate"

\ g d
AsRsc g B. Rs.(xd) C. Rs.(yd) D, . Rs. 2>

mmmﬁﬁmmmaﬁﬁa A AR I FRTH a@a»‘rwgé@ta»‘m‘zﬁrg@ ?

An accurate clock shows 8 o'clock in the morning. Through how may degrees will the hour
hand rotate when the clock shows 2 o'clock in the afternoon?

A4 B. 150° - C. 168 - D. - 180°
mzﬁﬁaﬁmﬁqﬁmmmﬁaﬁ@mml
F) qHEE WRRT 5 L L L

@) =T IR 3

3. feees

%) FEsg SR , Y. S

A &1 @9, TR, T . B. -3, W-3, 7Y, ¥
C. #-3,@q, 7Y, F-) D. -}, @-3 79, 9-¥
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Garden of Six Season YR GTTHHE F F=R fafs ?

A, @E T : B. TR U
C.  ften gaeafa 3am. D. g™ S
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Her parents will never give their ...... to so much an hnsuit_able match. '

A. acquiescence B. " consent C. agr’éemem 5 D. willingness

He tried to ...... himself against a horde of ruffians. )

A. . collect B. save C. support D. defend

According to corporate circles data is pushing through the merger to create financially ......

company in the processed foods business, the group's thrust area for the 1990's

A. acceptable B.. powerful ~ C. leading" D. straight
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A bank offers 5% compound interest calculated on half—yearly ‘basis. A customer deposits
Rs. 1600 each on 1"January and 1% July of a year. At the end of the year, the amount he
would have gained by way of interest is:

A. Rs. 120 B.  Rs. 121 C. Rs.122 D. Rs. 123
Evaluate : (2.39)% - (1.61)>/2.39 - 1.61 :
A 2 B. 4 C. 6 D:+ 8

TR TfER TS T 3000 T RN T AW A 3800 WA, mmaaﬁm%mm
ot T e TS WA ST S i M TS ?
A man purchased a cow for Rs. 3000 and sold it the same day for Rs. 3600, allowing the

buyer a credit of 2 years. If the rate of interest be 10% per annum, then the man has a gain
of: .

A. 0% | 'B. 5% C. 75% D. 10%
Vitamin E %1 S0 T WARES (=R T |

9. WU T GEE U

. TR FH FEEEAT &7 g Afeq 8 (Antioxidant)
3. A Vitamin FHHE T, F0SH A IS |

A I3 3= B. 9,2I3TAT®

C. 313TH IR : D. 1IR3
TR H NS TR D : '
A SRfrR > TR TS A

B. SEAMl - — Tifrs aftmar faga e age 77

C.  PRITE — TS A e I

D. dfewR —  TTETEh! THE! § SR J19H T T

Theory of Natural Selection mmmm@-@mmm Wi T e e e
TRH S ?

A. ifa- sfafe= - ' B. Sifa- genfafa=

C. eifa T ammaw fa= D. e T
PRRTHRT AT 1§ 2 ;

A, IFH oA e ‘% ~ B. IchsHNE

C. INiRirst Meq 9 D. e gTeA

CDMA ¥ full form 3 & 2 : i ;

A. Code Division Multiple Access - B. _Code Division Multiple Area
C. Code Division Multiple Accesses D. Code Division Multiple Accsse
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Indeed, all over the world, more and more people are ...... coffee. .

A. wanting B. drinking C. liking . -D. partaking

Like any other country India has its ...... share of superstitions.

A. proper B. ‘abundant - C. fair D. peculiar
TN SO T W T SRR -

find the wrong number in the series:

7,8, 18, 57, 228, 1165, 6996

A 8 B. 18 Ce=?57 . D#SRIY

A A FTHM Y T T B & I W 0 T T s uﬁgém;ﬁﬁ:az ¥ e wm )i o)
il T Sl @S ?

A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the
fraction of the work that is left is :

! L L

Beoi e e D. 8/15

TS Wi %00 e @l 91 ¥, v T i W 3wen! i (Freifiret wfesroer) i @ 2
A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?

A 36 B.:: 72 C. 84 - - D. 10
sﬁ@amﬁmwﬁmmuﬁmzmmmmﬁmgn '
AT AU il Qe 2

Two numbers are respecnvel) 20% and 50% more than a third number. The ratlo of the two

" numbers is: _

A2 “B.U A e X e ol i v
ﬁwmmcmmmmmwmmm—@mr
F. WA @ cfamHfE . 1. SFSeEne o, W9H

A. ®1d B, #%dWIW  C ¥ EIH D. |
I H T TR, 098 N S FA Awt foredt 2

A, UE TR 9% B. TAUHel %

C. TOEd AR SF : D wImEET T Es

mm 095 mammmmmmzfmmmmm
‘dtamqr-maaa?
A dE-9R : B. UM - ©Y

C. e - v} D. 3URrfEa - 3
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Study the following line graph and answer the questions.

1 Sl wereen Gt adm o Rl (?" #JsHN) - Exports from Three Compames Over the

Years (in Rs. crore)

78.

79.

80.

81.

82

150
140
120
120
110 -
100 -
S0 -
80 4 -
70 1 -
60 - -
50 A
40 A
30 e £ T I o o L R et o M ot g S5 2 & B
20 - e e el ) . : b

"0 R - - — s - e SO -
loj ] 3 = — : + s

1993 1994 - 1995 1996 - 1997 1998 1999

g

) Lt L el

Amount in Rs. Crores

- Years

—— Company X -—I—Company K'Y —&— Company S 4

mm@ammmmmmhmm e

- For which of the following pairs o( years the: total exports from the three Compames together

are equal? - PP E

A. 1995and 1998  B. 1996 and 1998 = C. 1997 and 19983( 'D. 1995 and 1996
m&'ﬁmmaﬁmmmﬁm Z® mmmmmmm
w2 .

Average annual eXports durmg fhe ngen penﬂd for Compfany‘ Y is approxlmately what
percent of the average annual exports for C?mpa_ny Z" b

A 87.12% - B. 8964% -~ C, 9121% D. 9333%

FA AN FTA X IY R mmmmw

In which year was the dnfference between the exports from Companies X and Y the

minimum? 5 :
A. 1994 BE- 1995+ ) C. 1996 D. 1997
ﬁ%%:nucﬁ?ﬁaaammsﬁwﬁmmmmsa

What was the difference between the average exports of the three Compames in 1993 and the
average exports in 1998?

A. Rs.1533crores B. Rs. 18 67 crores C. Rs.20 crores D. Rs.22.17 crores
mmmmmmﬂmzﬁﬁmﬂmv In how many of the

given years, were the exports from Company Z more than the average annual exports over
the given )ears" .
A -2 B. 3 C. 4 D. 5
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34.
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A. =g Sng, Bafeam A B. Trfam Iaee, 39

- C. ¥ FA, Frafeam e D. Trfeam s, ey ar=g

3095 S UIH TG TR TAegin WA N qUEEw G feEm UN WOMAN #t
HEHR SIS GEeHT Farerent i e TSR S e T-HA e ?

F. WRd g. ey . Hrifern

A FIF B. ®@ITW C. HIT D. rnfamm

st TRTTHT TS TR FER0 STER T 2099 W W] o T T FA R 2

A. IEF-FARERE B, @USA-SHM - C. AfwA-gdm - D, feg-sEeER

mwﬁmmmwmwmmﬁmmmmﬁ
IR TIRA A AR 2
PN | B. Tl c. WM D. STHAl

In the following questlons four, alternatives are given for the phrase ttahcwed and underlined
in the sentence. Choose the alternatxve which best expresses the meaning of phrase.

When he heard that he had onte again not been selected he lost heart.

A. became desperate B. feltsad

C. became angry : ; ~D.- became discouraged

A remedy for all diseases is called ........ ciisrss ST

A.  Stoic B. Marvel C. Panacea - D. Recompense

choose the one which can be substituted for the given word/sentence.

One who is fond of fighting ‘

A. Bellicose B. Aggressive C. Belligerent D. . Militant

Toram e : :

F. I I S AR GRS e e e R v

. U qE STAfSd SESAIR] &9l %00 AMER ®H B

TR NI, ?owmgw—an'%nﬁ MMIWHWWW’%WW

Fo forem=e WA g v
A. ®I1@3F = B.  wWIdH C. windm D. Ta3dw
MONK : DEVOTION
A. maniac : pacifism 5 B. explorer : contentment
C. visionary : complacency . : D. rover : wanderlust
feram e -

%. UN-DESA, CDP §3 T T S=iTaah! qfafa & |

@. UN-DESA, CDP &1 94 %9 United Nations Committee for Deve]opment policy i

., ﬂﬁWﬁEﬁHWWHWWLDCﬁWﬁH@ﬁFMTﬁWW
o fowRE TS

%, I IF ~ B. FIWAEIH

C. THAA3E . D. @HHI®
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94.
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96.

98.

99.

- 100.

Choose the word which is the exact OPPOSITE of the glven word 1 2
INDUSTRIOUS :

A. Indifferent B. Indolent C. Casual D. Passive

R TEN T e T, 00 FEER G fvea S s TR I5 Afgls #W T
FARE SRR Gt Ik mmmwﬁﬁaﬁmﬁmﬂR@E ?
A, e - %o v, W3 - 30 wiavm, TN w8 - 9o wfawa

B. d9 - o gfivra, WW - 20 wiaww, wnfE % - 90 o

C. 99 - so yfavm, T3 - 9o wfaww, w3 7@ - R0 o

D. ¥ - o ufiwe, TR - X W, T - 94w

T ST TR G T S Wy Tl w5 i 2

A, FER - B. foar C. TR D. I
e TR T v Fea A g 2 - o

A WEIAAYEYSE B, TH A C. ifén ger fee D. 1% A&
ToremR TR :

%)  Nepal Aid Group G § %% A mﬁi! i

®) I9ER 6 000 HI Nepal Development Forum ﬂlm'\ﬂ@ﬁl
A. & A3 3 B. @UH IS C. #I{@TAI® D. 1@ 33 7Ted

wE fee NTH mmﬁ%ﬁmmmml Select a figure from

‘amongst the Answer Figures which will continue the same series as established by the five

Problem Figures.
Problem Figures: Answer thures

X #[C $FC N+
Ls X | @ l sJ | r | ' ©
o cle six ci=» s xle xlx =
A (B) ©) (D) (E) (1) (2) 3) 4 O
A1 B. 3 2 |
ﬁaxﬁtmmmﬁaﬁﬁz :

Choose the correct water image of the given figure (X) from amongst the four alternatives.

X X XX

C X
A 1 c: 3 4
mmmmﬁgmmwmwmmmmw
IO T AMRAAFS 2

What is the minimum number of colours required to fill the spaces in the glven dlagram
without any two adjacent spaces having the same colour?
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Q.N | Anskey Explanation

17 persons take tea and wine but not coffec
Number.of persons was taken both tea and coffee but not wine is 7
Option 122 persons take wine.
6D |7.c [8A [9B [10.B [11. DTwB |13c [12A [15B [16D
18.D [19.C |20.A |21.D |22.D
From fig. a: (3)* + (2)* =13
From fig. b: (4)> + (8)° = 80
From fig. c: ? = (1)%.+ (5)°
V=" F25
2=26
4 Hence the number 26 w1ll replace the questlon mark.
24| *‘D [5+4+7 <
o el
6+9+5
2
3+;+2=6 ' (
25| B [26B |27.0 [28.B [29:C [30.A [31.A[32D [33B
34 | A |Letthe ages of children be x, (x + 3), (x + 6), (x + 9) and (x + 12) years.
Then,,\+(x+3)+(x+6)+(x+9)+(x+ 12) 50
’ =5x=20
=:x=4:
: .. Age of the youngest child =x =4 years.
35 D 100 cmis read as 102 cm.
=~ A; = (100 x 100) cm® and A, (102 x 102) cm’.
(A;- A) =[(102)°- (100
=(102 + 100) X (102 -100)
. =404 cm?.

> |olw o e |w|w

=10

: -404 -
Percentaoe erTor = @_‘— x 100 =4.04%

36 B | Required 67x2+35x2+6x%x3
5 equlre average >+2+3

134 +70 + 18
e 7
222
R[0T
5

= 31:7'

37:| -C  |38D [39.8 [40.B J4i.C .[42.A Ta3B J
4| A
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45 Speed downstream = (13 + 4) km/hr = 17 km/hr.
: 68
Time taken to travel 68 km downstream = 17 hrs
) =4 hrs
46 Cost of x metres = Rs. d. 3
Cost of 1 metre-= Rs. -
d ' ¢
Cost of y metres = Rs. Py
L= Rs.‘Y_g
X
47 360
' . Angle traced by the hour hand in 6 hours = 12 X 6" = 180°
48 49.D [50.C [51.A 52D [53.D [54D [55.C [56.B [57.D [S8.B
59 5 | .
. Amount = Rs. 1600><1~}-2x100+1600x1+2x100
41 ' 41
Rs. 1600x40 20 * 1600 x 75
41 41
Rs. 1600x40x40+]
o 1600 x 41 x 81
= el e 40
=Rs. 3321
~. C.I.=Rs. (3321 - 3200) = Rs. 121
2 2
: -b” .(a+b) (a-b
0 Given Expression = "= (a+( a) S 2 Gabe (239 +161)=4.
61 C.P. = Rs. 3000. @
3600 x 100
S.P.=Rs. 100 + (10x2) = Rs. 3000.
Gain = 0%. -
62 63.D [6D |65.A |66A [67B  |68B[69.B  |70.C
71 Let the given numbers be A, B,C, D, E, F, G. ‘ _
. Then, A,Ax1+1,Bx2+2,Cx3+3, Dx4+4,Ex5+5,Fx6+6 are the required
nimbers.
Clearly, 228 is wrong.
72

1 l. _-]—
A's 1 day's work = 15

; : e
Bs 1 dayswork—20
1 7

¥ : 1
(A +B)'s 1 day's work = 15+20~60

' : TR < o 2
(A+B)s4dayswork=60x4—15

~

. 7 8
Therefore, Remaining work = 1 — 15 =15
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73

600
Speed = m m/sec =2 m/sec.

Converting m/sec to km/hr (see important formulas section)

_2x15—8km/hr :

|=7.2 km/hr.

74

el

Let the third number be x.
120x 6x °
100 =5

Second number = 150% of x = 11500(;( = L

Then, first number = 120% of x =

*. Ratio of ﬁrst two numbers =6x3x=12x: 15x =4;5

75

768 [77.D

78

Total exports of the three Companies X, Y and Z together, durmg various years are:
In 1993 = Rs. (30 + 80 + 60) crores = Rs. 170 crores. .

In 1994 = Rs. (60 + 40 + 90) crores = Rs. 190 crores.

In 1995 = Rs. (40 + 60 + 120) crores = Rs. 220 crores.

+|In 1996 = Rs. (70 + 60 + 90) crores = Rs. 220 crores.
1In 1997 = Rs. (100 + 80 + 60) crores = Rs. 240 crores.-

In 1998 = Rs. (50 + 100 + 80) crores = Rs. 230 crores.
In 1999 = Rs. (120 + 140 + 100) crores = Rs. 360 crores.

Clearly, the total exports of the three Companies X, Y and Z together are same during, the
years 1995 and 1996. . ;

79

Analysis of the graph: From the graph it is clear that
The amount of exports of Company X (in crore Rs.) in the years 1993,1994, 1995, 1996,

11997, 1998 and 1999 are 30, 60, 40, 70, 100, 50 and 120 respectively.

The amount of exports of Company Y (in crore Rs.) in the years 1993, 1994, 1995 1996,
1997, 1998 and 1999 are 80, 40, 60, 60, 80, 100 and 140 respectively.

| The amount of exports of Company Z (in crore Rs.) in the years 1993, 1994, 1995, 1996,

1997, 1998 and 1999 are 60, 90,, 120, 90, 60, 80 and 100 respectively.
Average annual exports (in Rs. crore) of Company Y during the given period

—x(80+40+60+60+80+100+140)_—6—0—80

Average annual exports (in Rs. crpre) of Company Z during the given period
) . .
=7 X (60 + 90 + 120 + 90 + 60 +-80 + 1()0):'6.@/ﬂ
. 80 '
.". Required percentage = 600 % 100% =93.33%
7

80

The difference between the exports from the Companies X and Y during the various years
are: -

In 1993 = Rs. (80 - 30) crores = Rs. 50 crores.

In 1994 = Rs. (60 - 40) crores = Rs. 20 crores.

In 1995 = Rs. (60 - 40) crores = Rs. 20 crores.

In 1996 = Rs. (70 - 60) crores = Rs. 10 crores.

In 1997 = Rs. (100 - 80) crores = Rs. 20 crores.
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In 1998 = Rs. (100 - 50) crores = Rs. 50 crores. ‘

In 1999 =Rs. (140 - 120) crores = Rs. 20 crores.
Clearly, the difference is minimum in the year 1996.

81

Average exports of the three Compa’nies»X, Y and Zin. 1993 -
=Rs. % x (30 +‘80 + 60) Crores = Rs. '1';& crpres. _
Average exports of the three Companies X, Y and Z in 1998
=Rs. % x (50 + 100 + 80) rores =Rs. - .

3
23
Difference = Rs. —30 - 0 ;O Crores

60
=Rs. 3

=‘_Rs". 20 crores.

Average annual exports of Company Z during the given period
1 :

=9 x (60 + 90 + 120 + 90 + 60 + 80 + 100)

' 600
=Rs. KR crores

=Rs. 85.71 crores. b . .

From the analysis of graph the exports of Company Z are- more than the average annual
exports of Company Z (i.., Rs. 85.71 crores) during the years 1994, 1995, 1996 and 1999,
i.e., during 4 of the given years. : : :

83

o4, |

8D |85.D |86.C [87D[88.C [89.A [90.D [91.D [92.A[93.D

98

“195.A [96.B  {97.C

The symbols move in the sequences L2 ¢§ and L= =] alternately.

99

100

The figure may be labelled as shown. Lo

| The spaces P;'Q and R have to be shaded by three different colours definitely (since

each of these three spaces lies adjacent to the other two):

Now, in order that no two adjacent spaces be shaded by the same colour, the spaces T,
U and S must be shaded with the colours of the spaces P, Q and R respectively.

Also the spaces X, V and W must be shaded with the colours of the spaces S, T and U
respectively i.e. with the colours of the spaces R, P and Q respectively. Thus,

minimum three colours are required.
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5. |[®@®OO [30. | ®®OD®| 55 | ®®O® | 8. | ®@®O®
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7. | ®®O0 |32 [(®®OD®] 57 |®@®O00| 82 [A®O®

8. |[®®OD® |33 |[A®OD|8 |®@E®OD|8 [®®OO®

S |®®O® | 4 |[®O®OD|» |®@®O® | |@®O®

10. |®®OD | 35. | A®OD| 60. AEOD| 8. | A®O®

1. |[®®O0 |36 (OO | 6. |[®®OO|3%. |®@®O®

2. 1®B®O0 | 37. (BE®OD| 62 | ®®OD® |8 |O@®O0D®

B |AE®OO |38 |®®OD®| 63 | A@®OD |8 [A®O®

4 (OO0 | 39. OO0 | 64. AOOD|%. |®®O®

15 |®H@®OD | 0. | @B®O®| 65 [®®OD®| % | ®@®O0®

16 (OO | 4. B®OD® | 66. | ®®OD| 9. |A®O® |
17. | @O0 | 2. ®®OD| 6. ®®OD |2 |A®O®

B 1000 |83 [O®OD| % |®@®OD| % | ®@®O®

L. (RO |4 [AEOO] » |[AEO®| % @O0
20. ®@®OO® |45 (B®O®| 70 [A®OD®|%5 | A®O®

2. |A®OD® |46 [(B®OO| 1. [A®OD®| % |A@®OD

2. |O®O0 | 47. | ®B®OO| 2. | ®®OD |97 [A®OD®

2. |O®OC0 | 4. |®®OD| 3. | O®OD| %8 |®®CO

AU OO0 |9 |®O®OD| 4 |@®OD®| % | ®@®O®
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Imjﬁrmﬁhﬁt AT : 2 (Set 2)

Question No. (1-5) are based on the following passage: i - ,
Piccadilly Circus was full of loneliness. It seethes and echoes with it. To live near it. Looking down on it

- 1is a discomforting exercise. You can't feel the pulse of London here, though people expect. to.. To
Londoners it is a maddening obstruction between one place and another, and few voluntarily linger there.
The only locals are those who live off the lingerers; the lingerers are primarily sightseers, with a fair
sprinkling of people hoping to. draw attention to themselves - both typically from the provinces. They
have come to see the heart of London and expect to see spectacle, glamour and vice.

1. Piccadilly Circus is g .
A.  the name of a circus company B. alonely and resounding old building
C. acentrally located area in London D. ahuge heap of ruins '

2. The passage implies that .
A. . some Londoners love to spend their time near the Piccadilly circus !
B.  no Londoner wants to be in Piccadilly circus
C. Piccadilly circus is a hazardous place
D. . Piccadilly circus is place of vice . .
3. According to this passage, people from outside London go to Piccadilly circus because it is -

A. ahistorical place B. full of glamour
"C. full of exciting people " D. the pulse of London
4. For those who live near Piccadilly circus, it is '
A. averynoisy place . B. crowded with people
C. an obstruction to traffic D. anawkward structure
'5. The lingerers found in Piccadilly circus are mainly
A. the citizens of London ‘ B. sightseers from provincial areas of Britain
_ - C. people who want to show off D. local idlers ‘
6. =R e
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% @M~ @ Sea-Y M. HRH % . gEd %

A FIEIFTE . B. WIYHAEEE

- C. &, @INHAE W D. @ TMUSHAN :
Wmmmmﬁmwml AEFJ : KOPT :: 7 : QUVZ

A. GKLP . B. GLKP C. HKLP D. HKQL
Volleyball, Hockey, Football F SHgHl I 41 USSR

A. Aquatics ™ B. Baseball C. Athletes D. Sports

Iqgh e ol weaTae farge forermam TEery : 8:28 11272 7 ' :

A. 28 B. 8 O T D. 65
Numismatist : Coins Wmmiﬁﬁ"ﬂﬂgﬂ N ¢/

A Jeweller : Jewels B. Cartographer : Maps

C. Philatelist : Stamps ' D. Geneticist : Chromosomes

YT TarE WU T ST (e SR THer ;

Which one will replace the question mark ?

4 5 6
2 3 7
1 8 3

A 94 B. 76 R T 49 D. 13

LT TR TR .coeneeeenene fraf sl

A. &¥3% B. &¥e3 ' C. %Yy D. %oy
mmmmmmmmmmv : :

A. aﬁﬂéa B. fyRa C. 3fgam D. T¥aRa
A. a‘{ﬂmﬁzaﬁ?ﬁwqﬁmmﬁwﬁ:

B. qfiaris a1ie Wl Wi freera et fadmn afae 1

¢ mm@mwm@m :

FI1TEIH B. ®INI® C. HINI . . D. @IN3IF





